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o ) PART -A
rdering of words in a sentence

Your Personal Exar

Directions : Each of the
ollowing i e
jumbled. These parts ha M ’ M“Sw M_mSm in this section consists of a sentence, the parts of which have been
n
ramely (@), (), (0) and (@), You abelled P, Q, R and S. Given below each sentence are four sequences
. are requi .
mark your response accordingly quired to re-arrange the jumbled parts of the sentence correctly and

1.  because
Ifeel you remember it better ~ when you write somethin
)

P Q R
I make at least three drafts of a song
S

The correct sequence should be :

(a) SPRQ

(b) RQPS

© QRSP

@ PRSQ

2 fort . .
* or hours 1n the mTOﬁ - agunman who held
om of ¥ 10 lakh

P Q R
The correct sequence should be : S
(a) SPRQ
() RQPS
(@ QRPS
d) PRSQ

3. living in Russia country immediately Ukraine b
as urged its citi:
zens

oving == ———
F Q to leave the
R —_—
The correct sequence should be : S
(a) SPRQ
» RPSQ
(¢ RSQP
@ PRSQ
>m0._‘-_u-m20
(2-D)

utilize the resources of water

quatic life thrives we need to

5.  ecology is vnognemm and a
P Q
for different purposes while ensuring that its natural
S

R

The correct sequence should be :

(@) SPRQ
(b RQPS
(¢ QRSP
@, PRSQ
6. very difficult the poor visibility ~ made the movement of traffic  due to fog
P Q R S
The correct sequence should be :
(a) SPRQ
() RQPS
(¢ QRPS
(d QSRP
ASGT-F-ENG (3-D)
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Your Personal Exams

E but rarely is it the other way round Idioms and Phrases
. 'hoose
P . anings for each. C
th : ¢ : ections : Given below are some idioms/phrases followed by f oﬁ»akﬁ:a:c« e
E the doctors wwh.wao& EE..E@J.E@ answer from among the options (a), (), () or (a).
R
S
The correct sequence 16. Sit on the fence
should be : jon’s sh: .
(@ SPRQ 11. The EM_ s mns are ] hing (a) Avoid meeting someone
ortion of some . .
(b) RPSQ (a) p : . and the best part of (b) Waiting patiently
(c) QRPS ®) The ﬁ“ﬂbﬂ@m e Avoid taking sides
@ s (O] vaB.m Mmua decision (@  Hiding from someone
8.  flight c impor
Tght, and each person  her own journey  life isa solo  makes his o @ An aggressive statement
P Q = Y 17. Be as sharp as a tack
S i n
The correct sequence should be : 12. Spill the beans (a) A talkative perso
(@) SPRQ (a) Reveal a secret (b) A shrewd person
a
™ RPQs () Forced to leave belongings (©  Aclumsy person
M& RPSQ A.V - (d) A clever person
d) PQRS c are the news
9 de i (d) Take offence at someone’s rude .
made it evolve  technologies and equipment has behaviour 18. From pillar to post
P @/ (3) Upside down
into a rare centre of excell % Cook someone’s goose (b) Keep moving from one v_wmo to another
———— ~ " °XeeTence  adoption of the latest (@) To assist others (¢) Constructing a huge building
R - . .
S () Hypnotize other’s mind (d) Jumping from the top of the mountain

The correct sequence should be :
(¢)  To spoil other’s plans

(@ PQRs
(b) RPQS (@ Inviting misfortune @ Heath Robinson
(c) SQPR (a) Very complicated system or machine for
(d) QSRpP . doing a simple task
10 14. Disappear into thin air (b) Treating everyone as enemy, when they
. please mark the same  be mage @w Lost forever are not
- © In response to this not; . p .
P { (b)  Become forgetful (¢) Sleeping all day, doing nothing
. . (d) Very lazy person, slow in action
E o the () Become uncaring
ncerned authority (d) Disappear suddenly \

R Yy
As thick as thieves
(*

The correct sequence shou] dbe: S -
15. Put the screws on (a) Dumb person

(a) PQRS
. (b) Good for nothin,
- (b) RPQS (a) Forcing someone to do what you want )
= () SQPR ) ) (c) Someone who wuses everyone for
o d) RQPS (b) Never letting go of things personal gain
w (c)  Keep the past alive (d) Very close friends who are looked upon
st TF-ENG (d) Using someone’s trick for own benefit with suspicion

(4-D) A
SGT-F-ENG (5-D)
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Synonyms

Directions :
ns 4 with an underlined word followed by four

optio : Each item in this secti ists of @ se
ns, .
(@), ®), (c) and (d). Select the option that is nearest in meaning to the underlined word and mark

your re i
SPonse in your Answer Sheet accordingly.

21. Durin, .
o mﬁm.Mnn”M Mgnmu.ﬁn the indigent people had | 26. The redemption will now depend on his peyy
) ot. strategy of inclusiveness.
o very poor (a) retrieval
opulent
©  oobe Mn (b) forfeiture
(d)  prosperous MMw\ Monuonwﬂou
esecration
-/ She had no idea wh i
! at made him angry in one
$v ute and jovial the next, 27. WE% three candidates are now in contention
aggrieved or the title.
MVVV melancholic (a) involved in dispute
AM v mc._mmE (b) in agreement with each other
mirthful (©)  chance of winning
(d) amiable to each oth
. er
23. MH is nmrmmn lunacy to drive a car in this frosty
eather,
2 28. i
& e “HVH Eﬂv fishing paraphernalia is in the car.
(b)  normalcy ones
(©  insanity M€ accessories
@  sanity e
(d) food
24. Operating on a chil
d with canc
meticul . er needs | 29, .
e ic m_“.MM planning and teamwork, 9. M.rm public watched in astonishment as he
g ook a sudden jump from the bridge
(b) long (@ icipati =
® _ anticipation
@ O montem
pulous (¢) wonderment
. (&  calmness
25. MM—M&HMME&. over-speeding the vehicle can be
exhilarating, but it is important not 30. Drinking inordin
the consequences lightly. o taks A ale amount of lig i
the consequenc ] good for health. uor is not
®  dreary (@)  temperate
()  exciting (®)  exorbitant
) agitating (©)  moderate
(@  regular
ASGT-F-ENG
(6-D)

Spotting Errors

lled (@); ®) and (©)-

entence with three underlined parts labe
e in

n this section has a 8
nderlined part. Indicate

Directions : Each item U sour apons

nd out whether there i
letter i.e., (@) o (®) or (©)-

s any error,in any u
your responsé

Read each sentence to fu
If you find no error;

the Answer Sheet against the corresponding

should be indicated as (d).

to a height of a few kilometers.

31. Overlong periods of time, layers of sediments builds up
(a) AS\ (c)
No Error
@

uw..\ When a gasis cooled down it turns into a liquid from a process called condensation.

(©)

(a) QUV\

No Error

@

33. Ifyouwant toknow the news you can read a newspaper. No Error

(a) (b) () (CV]
34. Columbus made his first voyage from Europe to America on 1492.
(a) (b) (c)
No Error
(d)
ASGT-F-ENG (7- U )



enever the sky is clear, you can s€€ the stars in the night. No Error

|

Antonyms$

prep
&onal Exams Gui

Your

(a) (b) ©
! @
. ith an underlined word \.ozesm& by four

. octions : Each item in this section consists of @ sentence W .
ot hat is opposite it meaning to the underlined word and

options, (a), ®), © and (d). Select the option t

M mark your response in your Answer Sheet accordingly.

3. I'mnot working tomorrow, 01 don’t had to get up early. No E
- — He had the audacity to blame him.

41. The parental support can fortify 2 child’s | 46.

(a)
by (© e learning. (a) boldness
(a) weaken () vigour
(b) encourageé (cy temerity
(c) race (d) politeness

(d) strengthen

37. Shedidn’t tell anybody about her plans. No Error
47. They are making plans for the abatement of

(@ ®
© d) Now we can have another dazzling thought, the nuisance within a mvm&mmm time.
as an outcome of My brilliant research! (a) subsidence
Mw m%wwa (b) ebbing
- 0 M.:Mbm (© accumulation
. She wouldn't have hi . . ¢ ca S -
, as an accident, if she had driven carefully. (d) fulgent @ mitigation
a) , .
(b)
© . . .
No Error 43. The group held some clandestine meetings to 48, There 1 obob.ﬂ&. growth E. o
resolve the matter. —_— development of the scientific researches in the
@ s @ secret recent few mm.mmmmm.
()  covert (a) aggressive
(c) sneaky (b)  rampant
(@ public A@ meager
S augmented
39. Iwi .
will watch film if I finish the work in time. No E 44. In the winters, the countryside view is bleak
@ . No Error and the house is drafty. 49. He was known for his sagacity.
®) () ) (a) cheerless (a) prudence
(b) verdant (b) wisdom
(c) desolate (c) ignorance
(d) bare Amv sapience
40. In 1989, the
» government did an about-face
-face and Iran resto : i . .
@ - red it’s family planning program. Amid commotion the leader and his | 50. The river Ganges culminates in the Bay of
supporters remained passive. Bengal.
En © (a) quietude (a) concludes
@ (b) uproar ) flows
Mw \rwu%ma (¢) originates
ASGT-F-ENG stir (d) merges
(8-D)
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- el & 3 B :
g % g T, Wﬂﬂ\ﬁzﬁ : PART -B
(s Y e Uowermost/innerm, f s PR f the following is the
e < igneous rock) R 9 o 5555 51. The Counter Insurgency and Jungle Warfare 65, Which one of the fo g \
& @m aftme (Vairengte) . School of Indian Army is situated at : \J  lowermost/innermost intrusive igneous rock ?
B 0: T (@ A9 (Laccolitn) () Dehradun 0 Lo
a ceoli
@ & (Mhow) ® 390 (Batholien) ®)  Vairengte
© wfay (Lopolith) (©)  Gulmarg (b)  Batholith
52. YRSH il-form: .
5 T3t (soil forming regime) ¥ fRyg ¥ @ Yefey (Phacolith) W Hhow © Lopolith
T AT T § T
% @.n;;ﬂmmd mﬂ.. w, 52. In the soil-forming regime, which one of the
R LEE CEh . 3y : ) ) @  Phacolith
? ﬁ.mn ﬂw W@J i &aﬂm . Ty following occurs in a region where
(@) de?ﬂu AO&Bmom»SE J 2 m. @ g, UK, evapotranspiration  exceeds precipitation
®) Nwwdm%.ﬁmu (Late T R 2 significantly ?
o alerization) @ Caleification 56. Ifit is 12 noon in New Delhi, what will be the
O SieHreivem (Podsolization) @ 6:30aM ® Laterization time in London, UK ?
@ g N
) (Gleization) ®  6:30PM. () Podsolization (@) 6:30 AM
. (d)  Gleization
53, Wﬂﬂﬁaﬁ ww ¥ R, o S © 5:30AM ®)  6:30PM.
. ) @ 530 PM. 53. Which one of the following is found in the © 530AM.
(@) =g HEEE (Conrad gmoobsuﬂnﬁ innermost part of the Barth ? i
®) TR Gt (Moho Discontinuity) (@ Ooﬁwa.&moﬁ.&wﬁﬁ (@ 530P.M.
© T WO (Guttenbeng R GRS T Y T - ) Moko disontinuity
menoaeg:#ﬁ gﬁw (©)  Guttenberg discontinuity
@ A ) & SRy (Spring tide) % o @ Lehmann discontinuity 57. Which of the following positions of Sun, Earth
(Lehmann Uﬁno.&s&nﬁ J9TH w\w ? and Moon is/are suitable for Spring Tide ?
54, ”MMMMM\M qA TR I8 (=) e w L SYZYGY gfy (Conjunction) 54, M”m”o MMM“W M“_“MNEW tree species is/are 1. SYZYGY Conjunction
) ?
2. msok@mﬂ " 2. SYZYGY Opposition
1 am (Oak) (Opposition) 1. Oak
2. &@Wﬂu (Rhododendron) 3. muﬂ,ﬂa__.ﬂw__,a (Quadratyre) 2. Rhododendron 3. Quadrature
3 ,ﬂﬂmw B " ey ﬂﬂ - . 3. Rosewood Select the correct answer using the code given
’ ’ BEwool Tw RaH | N mwﬂ : Select the correct answer using the code given below :
%Nﬂﬁﬂmﬂgﬁﬂ%g%ﬂ @) ¥, below : @ logly
@) =1 ® o (@ lonly
® 233 V 2 ® 2and3 ®)  2only
© 133 © 13hy © 1land3 © 1land2
@ 132 @ 133 (d) 1land? @ 1and3
ASGT-F-ENG ASGT-F-ENG
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Q.
o
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o
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.Wﬁmﬂ_ﬂgﬂ@umﬂ_ﬂzwmmﬁmﬂ

59. Trefufiaa o @ frm T0d Wiswat 3 AfFaat

60.

rsonal Exams G

© TR W Rt 8 e g S

(=

3
O

Last m:E.mzv Tufia fr o 2

(a) WIEHECIE! (Michelangelo)

(b) SHRA (Donatello)

(© WG Botticelli)

@ frre o &R (Leonardo da Vinci)

T e w2

(a) Rt f$ T (Vasco da Gama)

(b) =¥ fSATS (Bartholomew Diaz)
(c) wq_duAgwmm:wbv

(@ T Fd (Hernén Cortés)

Wi ¥ Fretfean i & fvw T %

Frere
TR ) e SR @ E 2 Kol
(@) A

(b) .WZM.AWO«VNHV

© feom 64.
@ wyq

FEdH

(@) wom e g
R LE ST

(c) @qﬂm—.%wﬂ
(d) w._._qﬁ..nddqwﬂ

ASGT-F-ENG

AJNIUV

o2. T o e A e ¥

R s

» TR

Nﬁmcg

M m_ﬂ_.w A S (plan allge
e Teafia Ao & I @1 o

(b) v G A
(o i A

(@ fedm d=adfa amr

UN COP-27 frat wiier fred daftra 2 2
(a) ﬁm.&wﬂmﬂ

(b) 3MaRaTE IR IAdFare- g

(counter-terrorism)
() VAaTg IRaEd
@ Fud

T & S 4 ) e st §
A freew w7 A FR 3k s F @ @R

M:au_._ 9 §9Y (earliest known association)
?

(@ wEwdt
® T
) famH

@) EfEn

58. Which Renaissance artist painted “The Last

Supper’ ?

(a) Michelangelo

(b) Donatello

() Botticelli

(@ Leonardo da Vinci

59. Which one of the following European explorer

conquered Mexico ?

(a) Vascoda Gama
(b) Bartholomew Diaz
(¢) Magellan

(d) Hernén Cortés

60. Near which one of the following cities in India

have large statues of Kushana rulers been

discovered ?
(a) Karnal
(b) Ropar
(c) Hisar

(d) Mathura

61. The Treaty of Yandabo was concluded as part

of which one of the following wars ?
(a) First Anglo-Burmese War

(b) Second Anglo-Burmese War
(¢ Anglo-Kuki War

(@ Anglo-Maratha War

ASGT-F-ENG

62.

63.

(13-D)

Plan allocation i agricultur®
tal plan outlay

as percentage of to
in:

(@) Seventh Five-Year Plan
() Third Five-Year Plan

(c) First Five-Year Plan

(GY) Second Five-Year Plan

The UN COP-27 Summit relates to :
(a) Russia-Ukraine war

(b) Terrorism and counter-terrorism
(¢ Climate change

(d), Interpol

Which one of the following tribes from India’s
North-East had the
association with cultivation and production of

tea ?

earliest known

(a) Khasis
(b) Garos
(¢) Singphos

(G) Jayantias
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65.

66.

1

Yo

fefafea & @ ; :

fam (azat aeivm) fufem
wfaum (aqat ey st
wRum (85at deyA) rfufvam
wfeur (9zat weivem) srfufm

(a)
(b)
(c)

@

frefifaa § A AT FATIR?

(a) ﬂwﬂﬂm&ﬁuﬂmﬂ.mﬁwﬂmﬂﬂ
Wuﬂmﬁ@ﬁ@ﬂw_

gedt W gHT 1 e 99, S W
F 1o W @ ARFH R | =

(@ g gl w1 e @ i gl W
mwﬂﬂ.uﬁmmﬂ%smﬂmam%
wafem A

g W gedt W Toed w9 3 g W

(b)

@

< W e w qrwm #§ s § fohg
frodra feamalt # € |
67. TH famga we= 220V R 80w & ® H
TR (rated) & | 99 8 110 V W =i
o ST w, @ ofe i (power rating)
-1 8 2 70
(a) 80W
b) 60W
(c) 40W
d 20W
ASGT-F-ENG (14-D)

69.

68. ﬁ%ﬂm%@ﬂﬂd&muﬂﬂw

st , Preffad # & - a@ R 2
(a) e v wea it fefew dar R
s fow § @@ FEWM H -
sy B B

frenm v R ot fFreferd g R
%@ﬂm&%uﬁa%ﬂﬂ%ﬁm
At 2

s § AT T <l =

ot &

e v TR ot foafm g g,
%w.ﬁm&@uﬂﬂ%ﬂm%

(b)

(c)

(GY)

fu T arem § =t H = F e Fefefea
Ty AT R ?
@ @t smghell W el i @ FEE i
i
(b) aﬂﬂ%ﬂﬂm%mﬂ%
iferes At 2 Hrpd
(c) wﬂﬂ%ﬂﬂ@%ﬂﬂﬂw
s e
@ IR R W e # e I
- B e

e & ¥ e gt (efiei) 3 e
Tdu 8 & 2 )

(a) w%%ﬁmﬁ

b e gl

O] uww&ﬁu

@ T (Schmidt) T

65. By which one of the following amendments,
i | , | 68.
was Article 51A, relating to the Fundamental

Duties, inserted into the Constitution of

India ?

(a) The Constitution (42" Amendment) Act

() The Constitution (44" Amendment) Act

() The Constitution (85" Amendment) Act

(@ The Constitution (92”3 Amendment) Act

66. Which one of the following statements is

true ?

Ta) The force of gravity of the Earth on the
Moon is greater than the force of gravity
of the Moon on the Earth. b

(b) The force of gravity of the Moon on the
Earth is greater than the force of
gravity of the Earth on the Moon.

(¢) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude and are in the same
direction.

) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude but are in opposite
directions.

70.
67. An electric bulb is rated as 990 V and 80 W.

When it is operated on 110 V, the power

rating would be :

(a 80W

(b)) 60W

() 40W

d 20W

ASGT-F-ENG (15-D )

(a)

. mmor
In the dispersion of white light by 2 0 ing iS
glass prism, which one among
correct ?

Red light devial
light has highest sp

t deviates the most _u
highest speed in prism

d
tes the most pecause re

eed in prism
se

Blue ligh ecalt
blue light has
Red light deviates the most bec
light has lowest speed in prism

most becausé
d in prism

(b)
© ause red

Blue light deviates the
blue light has Jowest spee

(d

Which one among the following is true for the

speed of sound in a given medium ?

Speed of sound remains same at all

frequencies

(@)

(b) Speed of sound is faster at higher

frequencies
() Speed of sound is slower at higher
frequencies
Speed of sound is slower at higher

wavelengths

d

Which one of the following telescopes contains

only mirrors ?

(a) Galilean telescope

(b) Keplerian telescope

(c) Newtonian telescope

Schmidt telescope

@
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Fig ¥ ffwin & forg, Rt a0 S0 d |75, @R, yRww@ g wEEhE il sy
-—hﬂ%ﬁamwwaaﬂjmﬁﬂaw@ () B ik IE@ orFEI R YREdy
- . . FA I T 3G F I F Ugd | w1
a) TS )|
00/ 'wWder, gﬂga@ﬂﬂﬂﬁ_ﬂww.w
() TR B @ (Coconut shell)
@ (a) Wifea Yemge H1 AR Mg
b) I FEA TRATEEE W AAT R
2. ffofes § ¥ dwa, oA W T BESIELIER
Clcricacy % .
o R AR SR A ISR R S R ee—
@ N FER eEeiERs
() F,CLBr,I W " FE
® CLBr,F,I R w
() Br,I,CLF 76. @ﬁﬂwﬂmﬂ.@mﬁimwguwﬁm
@ 1,Br,CLF T fafiferm +0 % R sma-dme R
T witream % wftrer & an = o
7. WA I W wde G, R y| (@)
wwﬂwﬂw_g@i%ﬂimq s
_unﬂ._m:w.ﬂ?@m (b) THTIEYRY
Ty g ¥4 Ry
() HBR
(a) ofidfieq
® TR @ ot
(c) SN 7. Aﬂaﬂ
Rremerg (Rabatak inscriptiop
@ nﬂ@@iw%ﬁﬁ%ﬁ%wﬂ%%%m
. G & A ik @) T8 A Semah
ﬁﬁa%naﬂﬂmﬂﬁﬁwﬂmwaﬁ N R AT S e
T Bt R | I frm 3 F A
e a2 e e | ®) T 3 W Tt % o s,
(a) m._maarmz@mv wmmmuw:ﬂmu@.ﬂ@w:ﬂﬂw_ e
®) 3 (Boyie) (o) 235k 5y .
e uwm_ﬂ._@ﬂw .
m& :_w.d A><owwm~.ov */m.ﬂ.—..ﬂ.—w_ ._._._.ﬁ._.@ ﬁ.—.ﬂ._. .W
@) @@ﬂ@:mmm& o wmmﬁdﬂm#
B

Sor.
-F-EN
) G

1.

72,

For manufacturing of glass, which among the

following is used as a source of silica ?

(a)
(b)
()]
@

Which among the following is the correct
arrangement of halogens in the increasing

Fine clay soil
Wood powder
Coconut shell
Sand

order of their oxidizing nature ?

(a)
(b)
(c)
)

Copper sulphate crystals available in the
market are blue coloured crystals. By careful
heating, they turn/to white colour. Which one
of the following is responsible for the blue

Equal volume of all gases, when measured at
the same temperature and pressure, contain
an equal number of particles. Who proposed

F,Cl, Br,1
Cl, Br,F,I
Br,I,CLF
LBr,CLF

colour ?

(a) Oxygen
(b) Nitrogen
(¢ Water

(d) Hydrogen

the above law ?

(a) Charles

(b) Boyle

(¢)  Avogadro

(d) Lussac
ASGT-F-ENG
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75.

76.

1.

emical
Airbags work on the principle i M”nmbm a
reaction triggered by the impact PO volume
gaseous product that causes 2 sudden Ilowing
change. Which one among the fo

ia ?
. ; r this *
chemical conversions is uduvoum-Ew fo

(a) Sodium azide into nitrogen gas

() Solid carbon dioxide into gaseous carbon
dioxide

(¢)” Carbon dioxide into carbon monoxide

(d) Sudden conversion of gaseous car bon

dioxide into carbon monoxide

Which one among the following districts of
Eastern India held a referendum in 1947 to
decide whether or not to join Pakistan ?

(a) Sylhet

(b) Goalpara
(¢) Cachar
(@ Jalpaiguri

Which one of the following statements about

Rabatak inscription is not correct ?

(@) It throws important light on Kushana
genealogy.

(b) It refers to Kanishka as ‘a king of kings
and a son of God’.

(¢) The 23-line inscription is written in
Gandhari language.

d

It mentions names of States which Were
part of Kanishka’s empire.
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Your Pe

78. Tafafeas & @ =W, wRg w=a 79| s2.
‘gEIHIeH (Mrichchhakatika)’ T THATHR o1 ?
(a) I
(b W=
(c) arefifs
@ EF
79. I faefafaa # @ fFa =9 =1 wEw
a1 ?
(2) AN 83.
() WaTS
(c) WA
(@ i
go. Tl @ @ fra was ¥ Ty awsT A
TSuHT & €9 F greforgs i T i ?
(a) Tafemm
® fogar
© g -
@ omH
81. fr=fifad @iesl (astronomers) # ¥ foraa
7 fag forar & gedft ot o 1 @ & 9
3R afehar Fa & 2
(a) HIRAFT
(b) HIW
() Aefifa
@ =
ASGT-F-ENG (18-D)

foreh e R (AR Av2) W AL 0L ks
< @ et @ R | TR A 2 mls
nﬂmﬂuﬂﬁ@mﬂﬁﬁw%@ﬂdﬂwﬂa

i AT SN B ?
(a) ON

(b) 02N

(¢ 10N

d 20N

8:0 kg G5 H 2 5 3 4 m B SR R T
IR ¥ R et Wi ot ® 2 (Tecl
T 10 m/s A )

(a) 80W

(b) 160W
(© 320W

d) 640W

2:0 kg T5H % T @S (i) H 30 kg
TENH % TR TS (sATh) H S @I T R
3t e % fiw Wi oo o 02 | R
I G A AW 7@ F A 39 @@ i o @
5 31w w Wy forn gdor ¥ Raged §
Tl = 10 m/s® AW §Y, W w@ w
wEaq A fohaar & 2

(a 50N

(b 30N

() 4N

d 10N

P

following was the
Sanskrit work

the
famous

Who among
U author of the
‘Mrichchhakatika’ ?
(a) Kalidasa
(b) Bhasa
(¢) Valmiki

(d Shudraka

79. Yashovarman was ruler of which one of the
following kingdoms ?

(a)
(b)

Kannauj
Mewar

(¢) Marwar
(d) Kalinga

80. Which one among the following rulers
established Pataliputra as the capital of the
Magadhan Empire ?

(a) Bimbisara
(b) Bindusara
(¢) Ajatashatru

(d) Ashoka

81. Which one of the following astronomers
proved that the Earth and other planets
revolve around the Sun ?
(a) Copernicus

(b)  Kepler

(¢) Galileo

(d) Newton

ASGT-F-ENG
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82.

a
1t 8t
oT pe

Sand falls vertically on 2 noﬁaﬂwmﬁ the pelt
rate of 0-1 kg/s. In order to 2 m/ss the
moving at a uniform speed oﬁ:w pelt s
force required to be applied on
(a) ON
() 02N
¢ 10N
d 20N

The power HB&H@& to lift a mass of 8-0 kg up

a vertical distance of 4m in 28 is (taking
acceleration due to gravity as 10 m/s?) :

(a) 80W

() 160W

() 320W

d 640W

One block of 2-0 kg mass is placed on top of
another block of 3-:0 kg mass. The coefficient
of static friction between the two blocks is
0-2. The bottom block is pulled with g
horizontal force F such that both the blocks
move together without slipping. Taking
acceleration due to gravity as 10 B\mm‘ the
maximum value of the frictional force is :

(a) 50N
(b) 30N
() 4N

(@ 10N




prepp

Your Pelgancl Exams Guide

o . § % g 2 ) e | ss. FEIRR qfgy Fadd (circuit element) § 3
weh W w | Furft & Senfea fawm ge | sfedy feet 27 5. A mass is attached to a spring that hangs
6om ® | SEHT i TR W T @ Rl qH, R vertically. The extension produced in the
mﬂ.q 1 FAE | TeE @ % WH & B30 , spring is 6 cm on Earth. The acceleration due
g ® | WgW W HAH w1 R . to gravity on the surface of the Moon is
qm 2 R one-sixth of its value on the surface of the
R Earth. The extension of the spring on the
(@) 6cm @ R/2 Moon would be :
(b) lcm ) 3R (a) 6cm
(© Ocm () 3R/2 (b} lem
(d 36cm (d 2Rf3 (¢ Ocm
d) 36cm
s6. Pl # & s, R A s | %sﬁﬂﬂ&ﬁyz%. Pl # 4
(Lever) 3T JeTeW @ ? & ( RULSR 36. Which one of the following is an example of
1. o & s 7 Ry Second Class Lever ?
@ = (A pair of scissors) e ﬁd% T
& e s 2. W gSw! 1 fww (a) A pair of scissors
. N (bottle opener) 3. U SRl # gaar & o () A bottle opener
o) Trbew
@ it &wmaéﬂmﬁu%ﬁﬁ%%wmf (© A cricket bat
T S e @ @1
(d) Abow and arrow
(b) H9d 3
87. fonddt ey
g 4, 100 3y = w @ () Faaoair 3
w_..wmm frrmn g | IR 39 T A G R T 87. In an electric circuit, a wire of resistance 10 Q
T F SRR A1 (original value) & M.Hw @ 1,233 is used. If this wire is stretched to a length
H I, A yigy # uny double of its original value, the current in the
90. eI ye ,, circuit would become :
(@) 3T S W ) anet @ e | e e T 2 A7 e o
) 3 IRy () RN quq (a)  half of its original value.
A
A STt | ®) (b)  double of its original value.
( TR bGiEDlict
B s A # T il A ()  one-fourth of its origi
Sl © . , of its original value.
(d) 9 IR TS Te
I e T & | (d)  four times of its original value.
ASGT-F-ENG @ frEEy o
ASGT-F-ENG

ANQIDV

89.

(21-D)

ing
in the ».on%ﬁb
What is the total resistanc® in
circuit element ?
R
S e
R
a9 R/2
(b 3R
© 3R2
(d 2R/3
e(s) is/are

Which of the following schem! ,
included under Bharatmala Pariyojana :

1. Develop the road connectivity t0 border

areas
2.  Development of coastal roads
3. Improvement in the efficiency of
National Corridors

Select the correct answer using the code given
below :

(a) 1lonly

(b) 3only

(¢ 2and3only
d 1,2and3

Deendayal Port was earlier known as -

(a) Paradip Port

(b) Tuticorin Port

(¢0 Kandla Port

(d) Visakhapatnam Port
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N d
e v A o & S T T T %. %ww@mﬁﬁsﬂﬁﬂmﬁg s
rﬁ. o Qﬂww_msmwms\&%wm.@.mggw,w d £ al ducti . mawmmozoslbmwvwwﬂ . ﬁHm.w
7 & f 7 R (R0 % & T 1. One o vantage of sexual reproft jon over | g5 Which one 0 and water pixt
el 2R # : . duction is that ith ies to i zene
' am« 20 3w w 3 | o @ ” R ] asexu reproduction is tha it he .vm species b for separating bert
5 I @ survive over long evolutionary time. This is flask
e A ®) R AR because sexual reproduction produces : (a) Round bottor
(a) TAF T T # ﬁwﬁmﬂ e wafd © mﬂmﬂ& €9 (a) more offspring in each reproductive (b) Conical flask
Aom.mvlumvﬂﬂ AR P cycle. (&) Separating funnel
. al .
b TR it = gafa ¥e1 gl (d EiC (b) robustand healthy offspring. (@ Deanan d Stark apparatus
() IgaRmERd: TG TaR g A g | 3 5 mm#w 5 R (c) genetically similar offspring.
P 96. AN et fawa 7 D . Euwmem
(@ ddfodt A aftrs faftma At 21 1 wed F R S FRRLL frefofaa 33 (d) more variation1n offspring. 96. An iron nail dipped in copper ﬁw&u one
g gHR H sl & BRI %_m: 2? solution turns brown- This mwﬁmﬂmm Mo
. . . ons ?
g2, Frfifiaa o ¥ HRA TEA T I Shfea o ¥ o g2, Which one of the following structures or of the following types of re2
Hife o g feemE 7g qan ? a components is not always present in living (a) Addition reaction
e rfvifsean ? .
(a) R fufa L calls @vk Decomposition reaction
yfereaTe srfrfsean Cell wall
(b) g w © ) | Gelwe (¢) Substitution reaction
faemE Affen (b) Plasma membrane
(¢) HINEHEA (cytoplasm) @ (@ Displacement reaction
@ . ﬁ& (¢ Cytoplasm
: o < w @S R e § @ e (@) Genetiometeril
w2 & T R 97. Among the following, which is not the correct
93. W % TYFW (browning) ! FE TR ) method for keeping the curd ?
FU-HH T o1 g 2 7 (a) SO T A@u@m =) ¥ wdi Browning of the chopped apple can be
@ -t @ minimized by : - (a) Keeping in stainless steel vessel
a, TER I
b Tt um § ofef = (b) df9 & I § @ (a) using tablé sugar. (b) Keeping in copper vessel
(© g @ F I Fh (© ToReH % wd & @ (b preserving in a container. (¢ Keeping in plastic vessel
. o . ( ing 1 Jjuice. L.
@ P e Al w1 @ w5 (d) HE % adTd @ Mvv\ using an_Hou juice @ Keeping in glass vessel
using milk of magnesia.
04, FHY TEEA B I T 98. W
\ T % W ' fFefafes & 3 fre el go <
0 ¥ sqafem R ™ 5 §U ¥ o F A% 35 au m& 94. Which of the hydrocarbons are arranged as 98. Toothpaste prevents tooth decay by :
per the increasing order of their boilin; -
. MH o (@) S ST ) e e points ? oiling | (a) nmeutralizing the excess acidity.
(b) , T, s
© W M“‘ w&..,— (b) TR ¥ e (a) Methane, Butane, Propane, Heptane (b)  means of emulsification.
C,
@ s @.H_ w&..__ Eed (c) dwwamw £ R - (b)  Propane, Butane, Pentane, Octane (¢) the action of fluoride
&, , W3, W o (¢) Pr .
@ gt TR & Fq S opane, Butane, Heptane, Methane (@ making a coat of calcj
u
ASGT-F-ENG ha (d)  Octane, Ethane, Methane, Propane surface. ™ over the teety

(22-p )
ASGT-F-E
NG (23-D)




oy o
Q:
2
Q:
[ =
Y
5 ! .
mﬂmﬂ@iﬂﬂmﬂﬂﬁmﬂ»%%_a.mﬂ@@mw@gdﬂﬁﬂzﬂﬁé .
' S 4 ghet it g, 36 At ? _ collowing kingdoms ¥
: 99. Freedom fighter Kanaklata Barua was 103. Which one of the fo Harihat and
@ T e @) W martyred in : founded by the tWO° brothers
- ‘ ; ukka ?
(b) WA DS A A ORRESEEIL (a) Sepoy Mutiny Buldka * .
- ; (b) Quit India Mo ement / () Bahmam
Vi
(© e e (¢ wE . (b) Vijayanagara
@ 1893 — 1894 % P fagie & @ W (¢ Non-Cooperation Movement (0 Malwa
(d) Peasant Uprising of 1893 — 1894 (d Maratha
100, TR o () % AR A Freteie § 104, Fyeferfaa & & frm T W 9Ra | hw g did the
? P FH TR ? 3 ot wft S ? 100. Which one among the following statements | 104. At which one of the following E.wn” dia ?
(a) A % ooft % N TET sl (a) W_u_.md (Chinsura) about the Mansabdari system is correct ? Danes establish their settlement 10 :
fopam T o | . . (a) All army troopers were allotted (a) Chinsura
) (b) HUSHA (Karaikal) b (b) Karaikal
(b) EHIRTG: 9N (ancestry) % YR T FFae m mansabs. A o
*N_N S © (Mahe) (b) Mansabs were usually assigned on the Mv . e "
. . ar
(0 TIEEERl % ¢ IR I H WA (zat) (d) IR (Tranquebar) basis of ancestry- N anque
A G&HS YW grl m.,@d o (¢) Position and salary of mansabdars were 105. A rectangl ABCD is kept in front 0 £a concave
T o 105. TF 3R@ - indicated b ical designati » Arectange 1857
! wa ABCD, f gl A sada o MM_MM " y a pumerical cesignation rirror of focal length f with its corners A and
(d) gﬁ&m&ﬂ&&uﬁmmﬂaﬁuﬂ ﬁﬂwamgw.?ﬁwm.»%mmwwmiA @ M cm. 3 b B being, respectively, at distances 2f and 3f
o o | F: of 3R 3f A g W &, 3 AB wuH A ansabdars were never paiciin ¢ast. from the mirror with AB along the principal
w E, 31 £ R & o 2 \ axis as shown in the figure. It forms an image
101. T % 58 TR @ w Gifvw dug Y sfifir AR | 9§ g 101. Which Governor General of Bengal underwent AB'CD’ in front of the mirror. What is the
dﬂﬂgd %— ﬂlﬂ@ ﬂd:% q._uw 5 ? @ 'B’C'D’ ST W | B'C’ &I A Emvmm.ogmﬂﬁ ﬁﬂonmm&ﬂm‘m in the British ratio of B'C’ to AD?
(@) T T ST T g2 Parliament ?
® ¥ SR (Vanittert (a) Robert Ore.m.
© T A ¢ D C (b) Henry Vansittart . D C
@ S T - ‘»I.ml\ (¢ Warren Hastings L ir
—_— (d) Lord Cornwallis of —
3 — _ 3f R
102. fafafen § 3
e agm 6 v ey
H & ot o 102. Who among the following composed the
‘Prayag Prashasti’ of Samudragupta ?
() 3 (@ 1 B ¢ @ 1
. (a) Harish
b) W wgr (b) 2 arishens (b) 2
© fmgey @ 1 (b)  Chand Bardai :
(@ 2 © =
Fifa (¢) Vishakhadatta 2
@ 2 2
3 (d) Kalidasa @ 3

PwO.ﬂ.—n.mzo
(24-D) ASGT-F-ENG
(25-D)
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Yair Personal Exa

zaf e €, S o PR w g & 1 T oAt
it @ 6 QF # & we o WS A
e vedt § ok 3@ famm ¥ oRomEEEd
AT T T F G quEida g | o
2t it = 3 T R xyz A Hw e @
oA S R, S f5 ogutm mm @ |
vfomrasd, # wWafdd few q@ wafda
Wﬂﬂ@mﬂﬂnﬂw_mﬁ

X

fug & @ T O XY o YZ (XY L Y2) | 108, aredA aigh & o Fefofen §

FUA G TgT 8 ?

(a) 9"9 4R (blowing jet) ﬂﬂ.&ﬂ .
I TR (note) Ve &L

FHaT e |

(b) 4HA ¥UR (blowing jet) W mﬁmm.uﬂs

w7, 39 T (note) F AR (p;
(pi
feffa @ 2 | n

© wigh ¥ v & Fomm

@ g0 % s & g %
ﬁﬁﬂﬂﬂum@ﬁﬂ«@ﬂmﬁw_

Sw.gﬁﬁmmﬁﬂ,ﬁws@ﬁa%

(@ a=0
(b) -
(c)

(G)]

a=0
o=26
o =46

’ Nﬂd@
1 3 e @1 § 1 e o

(@) I foam #t iR g s e |
® T e A si i wer com |
© 9w o 1 i fadow 7w s |

et vt o 3
V1 iwuﬂ.a
Mﬁwﬁ%%ﬁwﬁw @ 3 ol 7w i o |
%iw.ﬁaﬂwﬁ M, 3R = v,
£ o 3 i o s SR 110,
Mobdwsirmy, |y W g s ¢
@ V1 =w. ’
2
1 (a) ﬂmﬂ.—g
® M} AWE%W O
f= (c) Myv, =My, MlCEir e
. } )
w @ EEAE%M o SIS
mm._.._u.mzo d) gw—
o
. ANQIUV

3

06. Shown in the figure are two plane mirrors XY
and YZ (XY 1 YZ) joined at their edge. Also

shown is a light ray falling on one of the
mirrors and reflected back parallel to its
original path as a result of this arrangement.
The two mirrors are now rotated by an angle
0 to their new position X’YZ’, as shown. As a
result the new reflected ray is at an angle o
from the original reflected ray. Then :

(a)
(b)
(O]
(G

107. A railway wagon (open at the top) of mass M,
is moving with speed v; along a straight
track. As a result of rain, after some time it
gets partially filled with water so that the
mass of the wagon becomes M, and speed
becomes vy. Taking the rain to be falling
vertically and water stationary inside the
wagon, the relation between the two speeds v,
and v, is:

@ vy =vy

1 1
“MvZ < = Myv2
H<H < 2 w<m

(b
b\w

© Myv, = Myv,

@)

Myv, < Myv,

ASGT-F-ENG
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108.

109.

110.

D)

.. pot
owing mnwnmambnm is
strument ?
wing
duced

Which one of the foll
a musical in

es on the blo
s of the Pro

true for a flute, jet
Momentum of wav

(a)
determines the loudnes:

note.

the
Arrival time of the ves on

wa
h of the

(b) .
blowing jet determines the pitc
produced note.

(¢) Sound comes from 2 vibrating column of
air inside the flute.

d) Sound comes from a vibrating column of

air inside as well as outside the flute.

A positive charge is moving towards south in
a space where magnetic field is pointing in the

north direction. The moving charge will

experience :

(@) a deflecting force towards north
direction.

(b) a deflecting force towards east direction.

(¢) a deflecting force towards west
direction.

(d) no deflecting force.

Which one of the following is nof a main

greenhouse gas ?

(a) Water vapour
(b) Oxygen

(¢) Carbon dioxide
(d) Methane
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—

| @ gdaw FAHER g, S RS, T F
o ) & § ol et wred 7 &, o
fo & zafT T R | S, & 10 kg 1 Th GAAH
e o & 1 AR 8 I S, T USH FA:
ipw?éw%,mw

5,

i

10kg

Sy

@ W;=5kg ¥ W,=10kg

® W;=10kg 3 W,=5kg

(© Wy=5kg 3R W,=5kg

@ W;=10kg 3R W,=10kg
112. 20 m S Yo % R
TH T 12 m/s 6
MmM%mﬁszaw _ﬁﬁuww
%m&?wﬁ? g =10 ms? 3 g
WTH B 2 ﬁﬂwmﬂ_mﬁ.ﬂuﬂ

(a8 R=12m

() R=18m

(¢ R=24m

d R=30m
ASGT-F-ENG

114.

Awml_uv

" 113. 9 ¥ U & A G a1 TRt e

ﬁiﬁmggﬂﬁe:%m

ST I B

b LEAIT L
ara i 1 w0 g it 3
o o I VR R
(a)
(b)
(c)
@

f=1f;

mnalmvm

».NV».H

mnwm

QY G U (container), X 3R Y, T 37w

%ﬁ%u@ﬁ. WA RIS EE I

AT &ﬁﬁﬂﬂw@ﬁ@@mmﬁy

TR | IR 9 X % I h SR 0F G

%9 WU g31 3 3R U Y ek @ | o aTed @

9@ R, @ 6 uE F wwm W § @

MMEE?@:E&E.:BVW%W | Ffe (I
ﬂwﬂ@ﬁ%%@mﬂﬂ

P, ¥ 3 sifiw fRufaw i B, 2, A -

)

111. Tw

112.

o identical spring palances S; and Sj are

connected one after the other and are held

as shown in the figure. A mass of

vertically
If the readings on

10 kg is hanging from Ss.
S, and Sz are W, and Wy respectively, then :

51

10kg
(a) ﬁuumwmmbm W, =10kg
(b)
(©
@

W, =10kg and Wp=5kg
W, =5kg and W,=5kg
W, =10kg and W, =10kg

A stone is thrown horizontally from the top of
a 20 m high building with a speed of
12 my/s. Tt hits the ground at a distance R from
the building. Taking g = 10 m/s2 and
neglecting air resistance will give :

(a R=12m
(b) R=18m
(© R=24m
(@ R=30m
ASGT-F-ENG

118. A sphere of volum!

114.

(29-D)

with lower density than water.
ith its

Earth, it floats on water
fV@E <D submerge

a spaceship ac o on
a < g (g is the acceleration due to gravity

Earth) in outer space
in water is f,V. Then :

@ f=f
(b)
(c)

@

a
f,=1-=)f
2 p 1
».NV».H
f. =2f
2= 5 1
Two identical containers X
bottom by a thin

connected at the
be has a valve in it,

negligible volume. The tu

as shown in the figure. Initially container X
has a liquid filled up to height h in it and
. When the valve is

opened, both containers
liquid in equilibrium. If the initial (before the

valve is opened) potential energy of the liquid
and the final potential energy is Pgy

is Py
then :
X Y
=EEEEo=S =R
ANV w“— = HUM
Q..vu mvw = %muN
(c) HuH = MHvM
d) P;=8P



sc ale, the

b
2
5
2
E%ﬁmmﬂm&ﬁm%ﬂm :y%ﬂmﬂﬂaaﬂnw&ﬁzm@aﬂa ;
Anonmgﬁmammv<®d@ﬂ~@w_ﬂmﬁ ;8 w%ﬂmo ? i
P ki I He 115. A particle is moving in 8 circle of radius R |119. In terms of mmo_om.mamp time ochSs:
o g9 IR A gt & F @ T T ; with a constant d It \7 .od consists of tW° ep
it = 27 (a) A EGAl (Pleistocene) 3k Eg ) speed V- s average quaternary period o™
) : (Pliocene) acceleration over the time when it moves over They are :
Al half the circl is : . :
@ T b R (Holocene) S L | W g el (a) Pleistocene and Pliocen®
2 (Pleistocene) () Mw| (b) Holocene and Pleistocen®
b) - .
® 3R (© ¥ (Pleistocene) I 3Teq 2 (c) Pleistocene and Miocene
() W«W (Miocene) (b) \MW (d) Holocene and Eocené
7R @ 3d (Holocene) 3R ,ﬂnwnmﬂ
@ 0 (Eocene) © ov? 120. Which one of the following 18 the noﬁnmm«
- sven lane€é S
120, Frefefa # & 4T, fiw T 7@ F I R wmnconom o»..wﬂ.mbmmamun of the giv M o
116. fielt g f4g (poi T ( 3 3 ) @@ o in descending order of their density
| Y -
|aR T EEl F ? ) . . ’
60° 2, @ 39 goWM g W i F 326 Mﬁo mommwﬂom 5:0 N each are acting on & point (a) Earth> Jupiter > Venus > Saturn
. Frivie faa 9 (a) mﬁw vmmﬁ.m_ >YF > o ass. e angle between the forces 18 60°, .
g e fe & 2 ® oty then the net force acting on the point mass (b) Jupiter> Earth > Saturn > Venus
MMW M.m N © MM d > gt > >k M_mwm EMN%M:% close to : (¢) Earth>Venus> Jupiter > Saturn
-3 > a, -
N 5 > mmﬁ_,m sy (d) Earth> Venus > Saturn > Jupiter
(¢ 50N d mﬁJ > > i > (b 43N
d X mmn ifd .
) 67N 121 . ,.MMW Mwu 121. Which one of the following is not a cold
117, frffes § @ €A % . Frefafea 3 § S, wia g 777 22 current ?
@ e ’ Q% w ? MMW ng ﬂ.._\.mw.qw_ﬂ: T : 117. M“Mu.nnw one of the following is not an igneous (a) Western Australian Current
b = ol sfer aw - - ) Eastern Australian Current
(¢c) SHIe © wum: Py b @ B
@ @ ¥ uw (b) Slate c enguela Current
MMW Nmﬂﬂ? (d) Peru Current
118. Fefufag . abbro
: ERLR R R 122. gieqiAiyaT
i AR T (Podsolizati . 122. Th .
1 iR < solization) ¥t 118. Which . e process of Podsoliz son i .
otz 10 T fig o Sl whah g 2 S S Whish e fulloming statements is/are | foundin: solization is predominantly
‘ocus) % THiqq (a) Tagadi .
= w.:ﬂ Y% U T veret i @m._ 2 ._ ®) A mumu 1. Hypocenter is the point on the surface of (a) Equatorial forest
3. P e it it © ¥ma 2 Mw # Earih searcesta Slo Bene (b) Monsoon ft
3 . loci orest
PO @ & vt € o @  sweEmy Velocity of earthauako waves s higher . )
., TR v | N— - - ser materials. (c) Taiga forest
£ T Fe 1 s 123 ' waves move faster and are the firs (@ Medi
= (a) 132 G I| T : . = 23 (Keen Sword , sl arrive at the surface of the MEAM ko editerranean forest
b ; A ‘ or : elect th . ’ .
w Mev wwwm : (a) #N.Nﬂ % st dﬂmw.w eﬁwﬂm & below : e correct answer using the code given 128. Joint Military exercise ‘Ke
mu (@ wﬂﬂw ® W %ﬂﬂu : (8 1land2 conducted between : en Sword 23’ was
. JUET (U b 2 (a) Indi
ASGT-F-ENG © qTHT (UsA) 3ik - ( anet? 2 and Japan
@ e Sliict © land3 (b) Indiaand U
(30 3 LiEsIc (d) 3only SA
GT-F-ENG @ J
apan and Taiwan
(31-D)
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8
5
2
124, 7 T (epic) AT YT &1 )
et i s%ﬁ%f%w Yt | 127. Pt 3 @ # af 2022 F e
o2 agr | e R S TR R
(@) 1948 (@) w&.@u AR, eioft 124. ﬁam‘mw:—m om Rezang La, an epic battle in [ 127. Who among the following is not 2 recipient ©
o) 1956 (b) SehE foee , M”mam conditions, was fought by the Indian Nobel Prize in Chemistry it 2022 ?
- ’ my in :
° (c) HieT Hesd 1 A Y “a (a) Carolyn R. Bertozzi
) 1962 d . 1 wdag @) 948 (b) Benjamin List
@ 1972 ®) 1956 (© Morten M
128. ) , orten Meldal
¢ 8. Fw fifty de  wo F Arfifey ag (© 1962 @ K Barry Sharpless
. gg*w@ﬁ‘mmmm . ﬂmﬂ._ﬂmﬂ.—wﬂ.ﬂ X
R Frafafed woat xercise Sea Vigil-22” % 1 : b @ 1972
Tl | e Hifv . e S fify 128. Consider the following statements regarding
..—. * % % . . nw: W= g .
MM&A T ﬁ.@ww T . . 9. ?1 Eril 125. Ooum:.rwn the following statements about wall composition
# e < Fadt 1 S F M 3 __ > FIR fiftr Agee A g ‘Exercise Sea Vigil-22': L Bacterial cell wall is made of
| 1. Its aim i . eptidogl
2. USA 3 aim is to assess India's preparedn peptidoglycan.
ST A 3. WRRT § Hifimr in the domain of Mariti e d
. t
T wite m.nm | @ s o sk fufa & gt e I coastal defence. ime security and 2. Fungal cell wall is made of cellulose.
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@) TS (Vikram-S) (®) ATP+0, + TEETE
(©) ATP +CO, + Affes ufys

140. Fr=feafaa §
43 5 am 9w @ F yra @ ATP + 0, + ¥HRfeErTsS

W 24 x 7 I wEeE O e R

w2
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4 edition of joint military exercise

138. The
DUSTLIK’ between the Indian Army and the
Uzbekistan Army was held in :
(a) Ranikhet
() Gangtok
(c) Pithoragarh
(d) Leh
s first privately

189. Which of the following is India’
unched by ISRO recently ?

developed rocket la
(a) Skyroot
(b) Prarambh

(¢) Bazoomq

(d) Vikram-S

140. Which one among the following villages was
recently declared as India’s first 24 x7
solar-powered village ?

(a) Mawlynnong, Meghalaya

(b) Modhera, Gujarat

(¢) Ziro village, Arunachal Pradesh

(d) Malana, Himachal Pradesh

141. Tableaux of which one of the following States
was adjudged the best in the Republic Day
Parade, 2023 ?

(a) Uttarakhand
()  Punjab
(¢) Gujarat

(d) Uttar Pradesh

ASGT-F-ENG

142. Organism

143. When

carbon source areé called :

(a) Autotrophs
(b) Emomno_ﬁovvm
(c) Parasites

() Decomposers

yeast cells are 0, starved, fermentation

This results in

serves as the source of energy-

the production of :

(a) ATP+COz+ Ethanol
() ATP + Oy + Pyruvate
(¢ ATP + CO, + Lactic acid

d ATP+O0,+ Acetaldehyde

144. During a laboratory experiment, a student
immerses epidermal leaf peel in a hypertonic
solution. After some time, the student
examined the cells under a microscope and

observed that :
(a) the cells swelled.
(b) the cells were plasmolysed.

(¢) the cells built up turgor pressure.

(d) the cells size was unaffected.
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TGHT FAR (TR (a) e gy | ¢ gi arrangemen
() ( ) Eﬂﬂ:ﬂ B ’ 2 » A of their reactivity ?
2 (a)  Cell wall is made of chitin
(b) T« e . .
© = JHII-GYN0 T GRY m » T, ’ .mw.@ﬂ# (b)  Filamentous mycelium is present (@)  Iron, Sodium, Silver, Copper
d) ITfir m@ﬂ.@ Am..nw.mv I WJW m (c) MWWM.#. am, T, m,.wm.- ()  Can carry out photosynthesis Mcv Silver, Copper, Iron, Sodium
<
@ ﬁu&WHﬂw %w aw, @ Asexual spores are produced (©)  Sodium, Copper, Silver, Iron
» I
(d) Sodium, Iron, Copper, Silver
146. m._uwﬁm..w ¥ aw o Eﬂzw_.@m wor & 3 146. Which one of the following statements about
mﬂﬂ.ﬁ.—. d% N% w ? 149. % STIEY * dﬂﬂ b .W..H:mem 3 bryophytes is not correct ? 149. Which among the following statements is not
T YT gt ¥ correct with respect to allotropes of Carbon ?
(a) wrey e Am m . TR 2 (a)  The plant body is a gametophyte.
® ¥ TR v ¢ (@) AbrEe Wﬂd T g1 R | (b)  They are also called the amphibians of @  Graphite is a good conductor of
R 3 I o *R I E | plant kingdom. electricity.
- ) E FEw T e
(© I aﬁnﬂ»ﬁ.«m T ATYR ¥ W | () The plant body is attached to the (b) Diamond is the hardest substance
2, S
(c) m,u@ﬁu_. (Fullerene) HeET o w substratum by rhizoids. known.
7

@ m@wﬂgﬁﬂg@wm_

(d) Specialized water-conducting tissues

(¢) Fullerene is one of the allotropes of
) are present. carbon.
W F a1, e TEU F3REW 7 T
21
(d) Next to diamond, graphite is the second
147. WgfFwr whm % Lt Qg [IESIED 147. What is the specific purpose of using hardest known substance.
* yE 1 fagy TN 29 potassium hydroxide during the
150. Eﬂ@.@d Rt saponification process ?
(a) N@ - i q N.wu..m? it i # 150. Which among the following is the popular
& 3 S T H W_A 3R BRI wgfa 22 (@) To obtain soaps which are hard on the method for manufacture of ammonia ?
skin
(a) Ostwald’s process
ORI o — S - @  siares wwm (Ostwald’s process) (b)  To obtain soaps which are soft on the
mw. Wmﬂ skin (b) Haber-Bosch process
(b) = Wh )
c (Haber-Bosch process (¢)  To obtain natural fragrance () Electric furnace process
= (c) NTHlas Gy ww Fwr
(c) . es5) (d To make the saponification ve:
W figa W& Y9 (Electric furnace proc € economical R (d) Electrolysis process
o (d)  HIFHIH Ft T Rrwrrdt s @ v
i S
o Frae-stae s (Electrolysis proce® ASGT-F-ENG (39-D)
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